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-0.0015-0.001-0.0005 O

0.0005 0.001 0.0015



asym_usl asym_dsl asym_usr asym_dsr

0.008F 0.008F 0.008F 0.008F
0.006 4 0.006 0.006 T a e 0.006
0.004 0.004 0.004 0.004
0.0021 0.0021 0.0021 " 0.0021
o o o o
aS ’ m USl 0.002 -0.002 -0.002 -0.0021
I - - - -
-0.004 -0.004F -0.004F -0.004F
_Dlﬂﬂa_llll|III|III|III|III|IIIIIII|III| _DIDGE_IIIIII|IIIIIIIIIlIIIIlIIIIlIIIIlI _DIDGE_IlllllllI|III|III|IIIIIIIIIIIlIIIlIII _DIDGE_IllllllllllII|IIII|IIIIIIIIIlIIIIlII
~0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008 ~0.0015 —0.001 -0.0005 0  0.0005 0.001 0.0015 ~0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01 ~0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_usl asym_dsl asym_usr asym_dsr
1.0015F - 1.0015F - 1.0015F - 1.0015F
0.001 0.001 0.001 | 0.001
3.0005 3.0005 3.0005 3.0005
3 — 20005 - 7.0005[ 7.0005[ 7.0005[
—0.001F ~0.001 ~0.001F ~0.001
).0015 - - 2.0015F 3.0015 - 3.0015
_|III|III|III|III|III|IIIIIII|III| _IIIIII|IIIIIIIIIlIIIIlIIIIlIIIIlI _I|III|III|III|III|IIIIIIIIIIIlIIIlIII _III|IIII|IIII|IIII|IIIIIIIIIlIIIIlII
~0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008 ~0.0015 —0.001 -0.0005 0  0.0005 0.001 0.0015 ~0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01 ~0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_usl asym_dsl asym_usr asym_dsr
n.ny = n.ny = n.ny = n.ny =
0.008F 0.0081 0.008F 0.0081
0.006 0.006 0.006 4 0.006
0.004 0.004 0.004 0.004
0.0021— 0.0021— 0.0021— 0.0021—
0 0 0 0
aS:i m_usr 0.002 -0.002 -0.002 -0.002F
0.004 -0.004F -0.004F -0.004F
-0.006 -0.006 -0.006F .7 -0.006
0.008 -0.0081 -0.0081 -0.0081
_|III|III|III|III|III|IIIIIII|III| _IIIIII|IIIIIIIIIlIIIIlIIIIlIIIIlI _I|III|III|III|III|IIIIIIIIIIIlIIIlIII _III|IIII|IIII|IIII|IIIIIIIIIlIIIIlII
~0.008-0.006-0.004-0.002 0 0.002 0.004 0.006 0.008 ~0.0015 —0.001 -0.0005 0  0.0005 0.001 0.0015 ~0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01 ~0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_usl asym_dsl asym_usr asym_dsr
1.0015F 2.0015F . 2.0015F 2.0015F .
0.001 0.001 0.001 0.001
2.0005 2.0005 2.0005 __ 2.0005
oF oF oF oF
as ; m dsr ).0005 ).0005F ).0005F ).0005F
I - - - -
-0.001F -0.001F -0.001F -0.001F
: = : : R L
).0015 2.0015[ 2.0015[ 2.0015  .°
_|III|III|III|III|III|IIIIIII|III| _IIIIII|IIIIIIIIIlIIIIlIIIIlIIIIlI _I|III|III|III|III|IIIIIIIIIIIlIIIlIII _III|IIII|IIII|IIII|IIIIIIIIIlIIIIlII
~0.008-0.006-0.00¢-0.002 S 0.002 0.004 0.006 0.008 ~0.0015 —0.001 -0.0005 4 0.0Q0% 0.001 0.0015 ~0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01 ~0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
_ds asym_usr asym_dsr
run aASyIm maindaet nmuatual correiation-scat.pn
°




